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If the circumference of a circle is 18.6 cm greater than its diameter, what will be
the diameter of the circle?

gfc U gd i gRkfe 3 A1 I 18.6 A4l 18I ¢, dd Id PI A HT G2

Lekhpal Previous Year (Held on: 13 Sept 2015 )

8.68 cm

8.84 cm

/.54 cm

/.84 cm
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The HCF and
difference of t

the LCM of the two numbers are 12 and 2448, respectively. If the
ne numbers is 60, then the sum of the numbers will be

al B3] &

HE<H HUAE 3R AHTH JHUG hHTT: 12 3R 2448 1 Al

T3] BT 3

R 60 ©, dd Trefl &1 IRTHd a1 B2

Lekhpal Previous Year (Held on: 13 Sept 2015 )
248

204

348

284
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The ratio of the prices of a scooter and a moped is 9 : 5. If the value of a scooter
Is Rs. 4,200 more than moped, then the value of the moped will be-

Uh IH R 3R Uh HIUS i DAl Dl 3UId 9 : 5 5| Ale Iher df piud HIUS Bl
DA A 4,200 ¥UT 3¢ g, dd HIUS &I DA T G

Lekhpal Previous Year (Held on: 13 Sept 2015 )

Rs. 5,700

Rs. 6,300

Rs. 3,350

Rs. 5,250
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The sum of the three numbers is 392. If the ratio of the first number to the
second number is 2 : 3 and the ratio of the second number to the third number is

9 : 8, then the third number will be —

I A3 1 a1 392 © 1 Ffe Ugell WA T Gl W T 3gUrd 2 : 3% 3R
ORI AT BT AR AT Y 3HUTd 5 - 8 B, dd dIG:] I il -

Lekhpal Previous Year (Held on: 13 Sept 2015 )
176

192

162

120
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U AAIPR cdd D Y Fdg DI URATY 28 HICR § 3R IHDI &AHd 48
HeR2 g 9d & DUl B aHdlg T 572

The perimeter of the top surface of a rectangular table is 28 m and its area is 48
m?. What is the length of the hypotenuse of the table?

Lekhpal Previous Year (Held on: 13 Sept 2015 )

125 m

5m

10m

12 m
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The perimeter of the top surface of a rectangular table is 28 m and its area is 48
m?. What is the length of the hypotenuse of the table?

U AHIADPR cdd b Y Gdg BT R 28 HieT © 3R ITPT &7hd 48
Hie2 5| odd & HUl DI TS T 672

Lekhpal Previous Year (Held on: 13 Sept 2015 )

12.5m

5m

10m

12 m
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A merchant marks his goods by increasing the price by 25%. If he gives 4%
discount on marked price, what will be his profit percentage?

Udh [dohdl U &SI IR 25% dla Hb G 3ifdbd drdl ¢ | Ald 98 sifdbd g
IR 4% I B¢ adl g, dl IqD] A1 UId=Id T gRT?

Lekhpal Previous Year (Held on: 13 Sept 2015 )

10%

15%

20%

25%



MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

If the mean and standard deviation coefficients of a set of numbers are 10 and 5
respectively, so the standard deviation of the group of numbers will be.

gfc T3] & U qHg BT A R HHD (e UMD HHRT: 10 3R 5, dl
=134 & FHg BT AHD [dga- =1 gHI?

Lekhpal Previous Year (Held on: 13 Sept 2015 )

10
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If 22 + ig — 23 then the value of % 14 E

T T
gfd 22 + L =23 %, dl z* —cmHHcrqls"?
;JJ
Lekhpal Previous Year (Held on: 13 Sept 2015 )
429
629
927

526
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Suresh and Sandeep are partners in a business. Suresh invested Rs. 5,000 for
5 months and Sandeep invested Rs. 6,000 for 6 months in the business. How
much will Sandeep get out of the total profit of Rs 610 at the end of the year?

IR 3R &Y U AT H ATaR g | AR HGAR™ H 5 HglHI b [¢lU 5,000 30
3R Halg 6 AglHIl & el 6,000 U @I [H4% HRAI 5| 98 & 3id H 610 39 P D

ATy o Ty o o i g _
Lekhpal Previous Year (Held on: 13 Sept 2015)

Rs. 410

Rs. 380

Rs. 400

Rs. 360
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The value of is \/15612 + /154 + /225

Lekhpal Previous Year (Held on: 13 Sept 2015 )

115

125

99

110
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The averageofn,(n+ 1), (n+2), (n+3), (n+4), (n+D5)is-

n, (n+1), (n+2), (n+3), (n+4), (n+5) P 3{Ad 3T g7

Lekhpal Previous Year (Held on: 13 Sept 2015 )
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The three different vessels have different quantities of milk and water mixtures,
measuring 403 liters, 434 liters and 465 liters. What should be the largest

measurement (in litters) so that all the different quantities can be fully
measured?

I [ FcHl § g8 S1R UTHl o (901 DI 31eT HETU 403 TieR, 434 Tler 3R

465 Tl ¢ | 98 &Y g HIY (dllex H) a1 gl fora gt A= guia: Jidl S
Jbh?

Lekhpal Previous Year (Held on: 13 Sept 2015 )
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720 sweets are distributed equally among the children in such a way that the
number of sweets given to each child is equal to 20% of the total number of
children. How many sweets did each child get?

720 a0l &1 9 § THIHAM 4 9 39 UDR dic] oldl § fb UdP g i al
T} a1l P AT a7l Hl Dol TRHT DT 20% o | YD a=d Bl [ha-t (gl
HIkd élﬁ“ %? Lekhpal Previous Year (Held on: 13 Sept 2015 )

11

15

12

14



MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

36 people can complete a work in 18 days. In how many days will 27 people
complete the same work?

Dy T

36 Afdd Udh H1H Bl 18 ol H URT R b © | 27 Aldd JHH D1 Bl fba- fa-)
U QRT R Ghdl 72

Lekhpal Previous Year (Held on: 13 Sept 2015)

12

18

24
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U -RIR1 B 2 TN & (1T Ueh (T ar U= TR0 16l UR (6471 Sl o | af 3
3% Bl del g5 &) UR a1 Sirdr, di 300 YU 3{feidh UItd gidl & | €-RIRI 1 572

A sum of money is given at a fixed rate for 2 years at simple interest. If it is given
at a higher rate of 3%, Rs. 300 more is received. The amount is

Lekhpal Previous Year (Held on: 13 Sept 2015 )

Rs. 5,000

Rs. 5,400

Rs. 5,300

Rs. 5,500
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A, B and C are shareholders in a company. In any one year, A got 1/3 of the
profit, B got 1/4 part, and C got Rs. 5,000. How much benefit does A get?

A B 3R C U® HhU-l H Ir3

aR o [

3R C 5.000 TYY UTtd H3q

U ay T

AT

P 1/3 [681, B 1/4 551

gl Afdd-

AT YTt

P

52

Lekhpal Previous Year (Held on: 13 Sept 2015 )

Rs. 1,000

Rs. 4,000

Rs. 3,000

Rs. 5,000
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Raghu travelled 1200 km by airplane which was % of his total
journey. He covered é of the total journey by car and the rest
by train. The distance traveled by train is

I 1200 [Tl gdTs SIgrsl I IE BT § ol 39D hd AT B

2 fe®1 g1 98 P IET DI - [OXT PR G 3R AW 7 J 7 Dl

1
g1 ¢ U g &I T &3 1 B2
Lekhpal Previous Year (Held on: 13 Sept 2015 )

1800 km

480 km

1600 km

800 km
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What is the height of an equilateral triangle with each side 4 cm?

Ush JHAIE FAYUS Bl Gdls HT1 SR oD Udd Yol 4 JHl g2

Lekhpal Previous Year (Held on: 13 Sept 2015 )

V3 cm

2vV3 cm

3v3 cm

43 cm
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If the ratio of the sides of atriangleis 3 :4 : 5 and its area is
216 cm square, the perimeter of the triangle will be -

gfc U FAYS D Yol BT UM 3 : 4 : 5 § 3R ITD] &A%
216 i1 94l ¢, Al A4S BT giRemy a1 grT?

Lekhpal Previous Year (Held on: 13 Sept 2015 )

76 cm

84 cm

80 cm

72 cm
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The LCM of two numbers is 520 and the HCF is 4. If one of
these numbers is 52, then the other number Is

&l T3 BT d.9.9. 520 IR A.9.Y. 4 o] gfc 370 I UTdh I

52 B, dl GIRI AT 1 572
Lekhpal Previous Year (Held on: 13 Sept 2015 )

42

o0

52
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The most frequently occurring value of a data group is called-

b sl & Bl JHg BT oY 38D dR 31 drdl JH Hodldl 6-

Lekhpal Previous Year (Held on: 13 Sept 2015 )

Mode dgcid

Mean HIY

Mediar HIfETH]

Range R
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The area of a rhombus is 500 cm? and its diagonal has a length of
25 cm. Then the length of the second diagonal will be -

Uh JHIGUS BT &FAHd 500 THI2 B 3R SP| UPH [dhUl Bl ddls
25 YUl g | dl gaR] [dhul & ddlg 1 g2

Lekhpal Previous Year (Held on: 13 Sept 2015 )

20 cm

50 cm

40 cm

30 cm
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The percentage of profit earned by two leading
telecom companies in India, namely X and Y,
are given in the following gr

h.
gRa ¥ X A7 Y mig Ut Sefrai
HUfal gRT fea oy &1 giavra fafefiaa
INE W foar & 2

X 0Y

2 8 3

&

N
. >>>>;<{4
R

*oee

beve
thee
toee

SRAS

ARRREERR

EERRED

44

SESRRRRRRERAS
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449
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2014 2018 2016 2017
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What is the percentage change in the profit %
of company Y from 2014 to 2017? )
2014 @ 2017 9k Ut Y o @19 W yfaea

Ufeada =T T&r?2
(a) 11.33% (b) 33.33%
) 2.53% d) 833%

ST UidTeTeh-16.09.2018_IInd Shift

zX @Y

2015 2016 2017
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The following chart describes the sales of four

min the yvears 2017 and 2018. ‘
ar-farsr ad 2017 3% 2018 W =W
IATEl oh Toehd o aR W feraRuT 9TiaT §

Vear Product | Product | Product | Product

o IqE | 3dE | 3de | 3dE

1 2 3 4
2017 28 23 17 27
2018 64 55 46 76
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Find the ratio of the average sales of Product -1
and Product- 2 in both the years to the average
sales of Product 3 and product 4 in both the

years?

AT gul ®H 3dE -1 3T SdARE-2 & AEd
fasra 3fT AT auf # Id@E-3 3T AT -4
T Tasha AT ITTUTd AT il

(a) 85:83 (b) 85:82
(c) 82:85 (d) 83:85
STATH UidTeTeh-16.09.2018 TInd Shift
Year Product | Product | Product | Product
s ST Sl Sdlq 513" | [+
1 2 3 4
2017 28 23 17 27
2018 64 55 46 76
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If the mean of the following data is 20.6, then

what is the value of p?

frfeRaa 22T 20.6 1 AR ) p T Uod o T 87

x; |10 | 15|20 |25 |35

t (3 (10| p | 7| S
(a) 22 (b) 25
(c) 28 (d) 30

STATH UiITeTeh-16.09.2018 Ist Shift
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The bar chart below shows the production of
different cereals over the years in huddreds of
tonnes. Study the given information and
answer the question that follows.

=t fo=m =T = e fuse oot 7 fafaas 3=t o6
SUTE hf € 24 W Ugivia ohiar g1 &t g
SITHShET ohT 3TegTT ohi 3T Afeiiaa 99— <kt

X3kl

ol

12

10 -

% el

W =TI
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Which crops were produced in the same
quantity in two different years?

ar fafirer gt # si=-dt ®wEet o A Uk

QU AT | g3T?

(a) Rice and Jowar /dlddd 3T SR

(b) Jowar and Maize /SdRR 3T AT

(c) Rice and Maize /dldcl 3T AT

(d) Rice, Maize and Jowar /919, HahT 3TN AR
SATATH Fi9TeTeh-16.09.2018 Ist Shift
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The difference inquantity between the lowest
and highest production of any crop is
approximately:

ferdft oft waer o Fraw 3iR S=uau ST &
Sl ATAT T 37T HAT-hilal Tehd-T &2

(a) 10 tonnes /10 24

(b) 8 tonnes /8 24

(c) 800 tonnes /800 24

(d) 10,000 tonnes /10,000 24

HTATH FivTeTeh-16.09.2018 Ist Shift
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Rice production figures between 2004 and 2007
show a:

2004 T 2007 o STl ATAA IS oh T(hS T8
UGS

(a) 5% drop /5%%Hl

(b) 55% drop /55%FH

(¢) 55% increase /50% g

(d) 5% increase /5%l Jig
STATH FioTeTeh-16.09.2018 Ist Shift
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In which year was almost double the quantity
of jowar produced compared to the previous

ear?
%matfﬁs—cmaﬂ 3UTE TUSel a9 ahif =T o
TRTT &F [T B 14T 472
(a) 2006 (b) 2007
(c) 2004 (d) 2005
SITATH YUidTeTeh-16.09.201 8 Ist Shift
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In which year did maize register a nearly three
times increase in Eroduction?

HerhT oh 3cdte- U form adl o i Tom gfeg g8
&7?

(a) 2005 (b) 2004

(c) 2006 (d) 2007

SITATH UiIT8Teh-16.09.2018 Ist Shift
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In which year did all three crops register an
increase inproduction over the previous year?

form o ¥ weft 9T wEAT & 3R ° Usd
Y Sl TAT Fieg §3 87
(a) 2004 (b) 2005
() 2007 (d) 2006
STATH ATITeTh-16.09.2018 Ist Shift
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Find the mode of the following distribution

frferiaga de7 o1 agas Ja Sifad —
Ug | S
10 R
15 12
20 18
25 16
30 10
35 9
(a) 15 (b) 30
(c) 25 (d) 20

oy fHeng faum, 2015
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What is the central angle representing Study the pie chart given below and answer the

Cherry? following questions

= T ST YN AT ey ol HI0T 8 .

(a) 75° (b) 60° frder : (we T 35-37) et faw T rE =
(c) 55° (d) 90° & T Y FAferiga goAt & 39T el

Thedl (IE@uTeT UdiaT, 2
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If 45 children chose apple then how many Study the pie chart given below and answer
children chose orange?

Tfe 45 Soat 3 9 941, 9t feas dwat 7 HJaw

the following questions

fador : (wva HE 35-37) e fou o uEg =

gAT? & 3T o Frafafiga goat & 3w difwul
(a) 70 (b) 60
(c) 30 (d) 140

THadl SIguTe UieT, 2015
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If 45 children chose maximum banana, then how Study the pie chart given below and answer
many children were there in the group?

afe 35 doal 4 Gaiiaes el 941, o 9Ug °

the following questions

frder : (w9 @ 35-37) e fou o i =
Tt fore areet &7 & TR H FAfAiad §9Ai & I St
(a) 140 (b) 90
(c) 70 (d) 180

TFHaal Ut THaEm, 2015
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journey of a car in a period of 6 hours

6 U2 I 37afY H U HR S IET
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What was the distance covered by the car between A and B ?

A ¥ Bk Sl ST NI O oAl T3 T T 2ff?

(a) 100 ﬁ ]ﬂ (b) 50 ﬁm’b fﬁ jﬂur‘ney of a car in .a period of 6 hours
6 H2 i 3af § Ueh HR HI I
(c) 40 . =i, (d) = e

Thedl (@UTA TH&T, 2015
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What was the distance covered by the car in journey of a car in a period of 6 hours

the whole !'ourney? 6 52 3 37afy A O F AT
gt AT H I gRT I bl T3 if efi? T

(a) 100 f. =t (b) 150 fe. .

(c) 250 fe&. . (d) 300 fa. .

Tchaldl TIE@UTeT ULtedr, 2015
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The average speed of the car between C and D was ?  journey of a car in a period of 6 hours

C 3R D & ofter &R &t 3faa nfa oft? 6 E2 F Y H UH HR H AET
(a) 65 fRHT. /=TT

(b) 50 foRHt./=UaT
(c) 45 Tt /=guar

(d) 3T H ° AT T8 oremsidt erauTe THET, 2015
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Study the following pie chart and bar graph and

answer the questions. Pie chart shows the number of
students in 6 schools.

e uE-=nd Ud A’ WM T TeTAT hich WAl Al
I S| UE-Te ©: Taareaat & faenfatat ot g @t

T 21 ferenfetat @ et HEAT—8500
Bar chart showing the number of girl students in the schools B A
o= forerersit # el @ ween gy ¥ 20% i el
/
600 — SR o
400 —
B J
200 — \
0 | 5
X D 20%
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FA-Te Taameat o St

800—

600 —
400 —
200 —

0 —

How many students study in school D ?

fereme™ D # fohas ST ued 87

(a) 780
(c) 840

AT 91T
73’0

2l

(b) 800
(d) 850

AT Tl gaelT, 2015

ferenteiet ant

Bar chart showing the number of girl students in the schools F

20%

Hed HEAT—8500

A
12%
E
18%
o

20%
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The number of students in school E is what percent less than

the total number of students in school A and B?

faemaa E | Tagmeli ot 9 &>m, [aEmad A Td B
gwwaﬁmﬁmuﬁmﬁw
?
(a) 32% (b) 36%
(c) 37.5% (d) 56.25%

3T AT aireITr, 2015

faenffat st et GET—8500

Bar chart showing the number of girl students in the schools A

e 800 [ W BTATAT chl HE&AT W [y 20% ...:_:,._.{{_;;f;::_.',':'-,'.f.'-_'._1
600 — i
18%

400 —

00 )

0
200 — 16%
0
L F




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & Use PROMO CODE : E06321 /

What is the ratio of the number of boys in school D to

the number of girls in school B?

O D H SET ohl 9@ Td g B H
BTATS i GEHT T JTUTT T 872

(a) 9:5 (b) 7:8

(c) 5:4 (d) 3:2
T3 11 ot ofam, 2015
faenffat st et GET—8500

Bar chart showing the number of girl students in the schools

AR-I1S feremerel # SRl sht H&AT T § 20%

800— 730

A

720
600 — _ E
- 18%
400 — _
. B
% : 16(V
200 — - ’
E F
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A researcher collected the following sample data
Uch JNierchal o TAefafaa wfaest ticest ol
Tahizd Teha :

5,12,6,8,5,6,7,5,12,4, 1

ATfeTehT %‘ median is ?
(@) 6 (b) 7
(c) 8 (d) 5

T AEUTA et giedr, 2015
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Agenda Of Today’s Class

3TTST 3hT H&T T TteT
Arithmetic -5Q
Algebra -5Q)
Trigonometry -5Q
Geometry -5Q)
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A certain sum of money is invested in compound interest and it turns Rs. 8,400
iIn 2 years and in 4 years it becomes Rs. 11,760. Then find the initial sum.

U (YT A I Iehdlg <are UR [Ha=r {441 Sidl ¢ 3R 98 2 99 H 8,400 3R 4
gy H 11,760 394 Bﬁaﬁ%la'm"im?ﬁ[mﬁﬁm

RAILWAYS NTPC CBT-2

Rs. 9,000

Rs. 8,000

Rs. 6,000

Rs. 5,000
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Difference between the compound interest and simple interest for 2 years is Rs.
20. Find the sum if rate of interest is 20% per annum.

gfc 2 9ul & fIU gehdls SA191 SR ATURUI TSl & d1d 3R 20 %. § | 98 A F1d

& 0 :
IS S 1 3 20% H A €

400 ».

200 .

300 .

500 ».
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Avesh is 40% more efficient than Rohit, Rohit is 25% more efficient than
Williamson. If Avesh can complete the work in 8 days, then Williamson will
complete it in how many days?

3991, Afed T 40% 3iferd <& 7, Afed, faferamas ¥ 25% siferd <& 71 afe sraw
S B! 8 fa-1 H Y1 DR Jobdll g, dl [Aferad 59 fabdH fa-l H 1 Hum?

|
RAILWAYS NTPC CBT-2

15 days

) A

]

25 days
14 days

11 days
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A survey of 70 students. 40% student like maths and physics both subject. 10%
students don't like any subject. 20 students only like physics subject. How many
students like only maths subject.

70 faenfai & v gdeur §, 40% fa=meft i ik «ifaet < favg gde &d § |
10% Ta=nfial &1 Pis v [avg Wi 7ol o 20 ety &1 wad Hifas! f[avg giie
o foaa faemedt Had nfvrg favyg i &d §
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15

20

28

48
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Pipe number 1 can fill the tank in 5 h and pipe number 2 in 10 h. Pipe number 3
can drain the water and make empty in 7% h. If all the three pipes are open all
together, then the time required for filling the tank completely would be

qigy I 1 ¢ Dl 5 °¢ H 3R UIgy I\ 2, 10 H¢ H W Idbd o | 9ISy I3 3
Ol & Td dR e D 7% Y H GIdll B IHdl ol dic diHl grsy &l U a1y Jldl

Sl g, dl < Dl R aRe o WA H fhd-1 901y am
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6 h

16 h

10 h

None of these
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Find the mode of the given data:

3,95,8,7,6,2,4,6,4,9,5,3,4,2

[SU U 3{[H S| DT ggdd F1d IS
3.5.8.7.6.2.4.6,4,9. 5,3, 4 2
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If the sum of interior angles of a polygon is 1800°, find the number of sides of
the polygon.

gic fodl agYS & 3id: DIV BT ART 1800° B, Al IgHST bl USIISl I T J1d
o

10

11

12

14
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If 20% of X is 30 and 35% of y is 70, then find the value of (X + y).

gfé x I 20% BTAM 30 © 3Ry & 35% BT HM 70 ©, dd (X + y) BT HH
Hiford |
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350

450

500

250
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The values of x and y in the given figure are respectively

al 11 offpfd T x SR y & HIH HHR: F1 52

50°, 80°

90°, 50°

70°, 50°

40°, 80°
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1. In a triangle ABC, AB=AC, ZBAC = 40°,
then what is exterior angle at B.
v Brafet ABCH AB =AC, LBAC = 40°,

dr BUR WET HIvr fbdem aom ?

(a) 90° (b) 70°
(c) 110° (d) 80°
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2. In a triangle ABC, AB = BC. What is
exterior angle at Cis £A = 50°.

s Brger ABCH AB=BC® CWR, dEIT BVl
garsd afe 2ZA = 50° & ?

(a) 110° (b) 115°
(c) 120° (d) 130°
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3. In a triangle ABD, ZADB = 20° and Cis a
point on BD such that AB = AC and CD = CA,

then £ZABC =7
el ciifore Brefer ABDH 2ADB = 20° 3R C,

BD W us v fisg €, forret AB=ACdem CD
=CA%, af £LABC &1 &a fbaem dom ?

(a) 40° (b) 45°
(c) 60° (d) 30°
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4. In a triangle ABC, AB = AC. Side BC is
extended to a point D in such a way that AC
=CD, if zBAD = 84° then 4«BAC =?

frger ABC#, AB=AC?| 53 BCat Das
3T UPR T 9=m & f& AC = CD & |
degrR ufe £BAD = 84°, & +BAC f&asn

B ? (a) 32° (b) 48°

(c) 42° (d) 52°
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5. In a triangle ABC, base BC is extended
from both ends, then what is the sum of

exterior angles at B and C?

Iafe Mt Brejor ABC 3, amgr BC &I &t 3R
91 f@=m one, ar Baegr C Uz asd HIvi Bl

AITGET BT P
(a)P-A (b)mr+ A
(c) >+ A (d) r — %
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1

cosecA+cotA

)2&HT WIATH AT F4T g9 ?

What is the simplified value of (
( 1

cosecA+cotA

) ?

(a) secA+tanA (b) (1-cosA)(1+cosA) (c) (1-cosecA)(1+cosecA)

RAILWAYS NTPC CBT-2

(d) sinA
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if cosZB-sinB=% , then what is the value of sin9?

gfe cnszﬁ-sinB%% dd sin® &T AT ATA hiAT ?
@ -1 (b) % o1 (d) 3/2
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What is the simplified value of tang +cut§ ?
tan; +cot>. FT FXATH AT FAT FRIT 2

(@) 2cosecO@ (b)2secO (c)sind (d) cosecO
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What is the simplified value of [(sec3x-tan3x) /(secx-tanx)] - 2tan?x-
secxtanx?

[(sec3x-tan3x) /(secx-tanx)]| - 2tan?x-secxtanx I HIeTdH HTeT FIT

grm 2
(@ 0 (b) 2 (c) -1 (d) 1
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1

What is the value of cot45°- Ecusecﬁﬂ"?

cot45°- %msecﬁﬂ" FT HTT FAT 9T ?

1

@ = (b) % © 7 (d) 1/3
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If cot6=21/20, then what is the value of cosec0?
Ife cot8=21/20 § , d9 cosecO T HATT FAT M ?
(a) 21/29 (b) 29/21 (c¢)20/29 (d) 29/20
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a—b

If a + b> = 80 and ab = 32, then calculate the value ofm

IfE a2+ b2=80 3T ab = 3za’r %maﬁrmaﬁﬁm
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What is the value of x’ —ij+3 whensgx-5_16-07?

¢ - 18 F AT FAT §, T 8x->-16=0 &?
(A) 16 (B) 8
(C) 6 (D) 22
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128

.What is the value of the expression f:ﬁ—5+F when a=2?
(!
afg a=2 & @ a—5+:§8$TFITFI'EF€IT%?
o
(A) 2 (B) 5
(C)7 (D) 8
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What is the value of & j’; ,whena+b=8anda-b=2?
i:ll' —
}i;ﬁr ATl FAT @, oId a+b=8 3T a—b=2 82
(A) 0.347 (B) 0.368
(C) 0.313 (D) 0.381
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Find the value of x |f\] _13 .
324 18
. X 13
X FT AT AT F, IR \j‘ﬁ‘m%
(A) 155 (B) 157
(C) 159 (D) 161
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